log (L*) LABJIND-Helligkeit

log(L*) L*
L*LaBinD = (Ad/AQ) In (Ag+ Ax-Y)
Ag=150 A=0,0170 A=0,0058
* =508 Y,=18, dY,=0.08 d¥,/Y,=0.004
log(L* ;)=2.7, m;=0.43

Anwendungs-
bereich

Y,=18

LABJIND-

Normfarbwertdifferenz
L*LaganD = (Ad/A2) In (A1 + Az°Y)
A=1,50 A=0,0170 A=0,0058
Normfarbwertdifferenz
log(dY)=log [ (A +Az-Y) / Ag]

logAY
log(AY) AY

bereich

LABJIND-
Normfarbwertemfindlichkeit

log (AY/Y)

log(C;) C=(AYIY)
L*LaBaND= (Ad/A2) In (Aq +Ay-Y)
Ap=1,50 A=0,0170 A=0,0058
LABJIND-Hellbezugswertempfindlichkeit
log(@Y/Y) =log [ (AL +AxY) /1 (Ag-Y) ]

| bereich
X ~
1 Iog(leY) -2.34 mu——O 1%~ o

log (Y/AY) LABJIND-

109(S;) S=(Y/AY) Normfarbwertkontrast
L*LaBaND = (Ad/A2) In (A1 + Ay-Y)
Ag=150 A=0,0170 A=0,0058
LABJIND-Hellbezugswertkontrast
log(Y/dY)=log [ (A+A2-Y) I (Ag-Y) ]
Y,=18, dY,=0.08 Y,/dY =222
log(Y/dY)=2.34 m,=0.13
-

bereich

Y,=18

Anwendungs-

Anwendungs-

Anwendungs-

log (L¥/L* ) Relative LABIJND-Helligkeit

L¥L*

L*LasanD= (Ag/A9) In (Ag + Az°Y)

L*L* =In (Ap+ Az Y) = In (A1 +Ay0Y)
A=150 A=0,0170 A=0,0058

L*,=508 Y,=18, dY,=0.0§ dY,/Y,=0.004
log[(L*) /(L* ,)]=0, m,=0.43
Anwendungs-

bereich

Y,=18

Relative LABIJND-
Normfarbwertdifferenz

log(AY/AY,)
INUNE
L*LaBaND= (Ad/A2) In (Aq +Ay-Y)
Ap=1,50 A=0,0170 A=0,0058
relative Normfarbwertdifferenz
log(dY/dY,) = log (A + Ay"Y)
—log (A1 +Az°Y)
Y,=18, dY,=0.08 dY,/Y,=0.004
log[(dYy(dY,)]=0, m,=0.86

Anwendungs-
[EE)

Relative LABIND-

log [(AY/Y) I QY /Y]
[N MEINTVINGD) Normfarbwertempfindlichkeit

(AdA2) In (A +Ay°Y)

A=0,0170 A=0,0058

relative LABIND-Hellbezugswertempfindlichkeit

L =
LABJIND
Ag=1,50

log[(dY/)/I(dYy/Yy)] =log [ (A +Ax-Y) /Y]
—log [(AL+ Az YY) 1Yy ]

Anwendungs-
bereich

Iag[(dY/Y)((dYu/Yu)] 0, m,=-0.13
Y,=18, dY,=0.08 dY,/Y,=0.004
Yy=4

log [(Y/AY) I (Y,/AY,)] Relativer LABIND-
log(S,) S,/S,U:(Y/AY)/(Yu/AYu)Normfa’bWE”komraS‘
L* L aBaND = (Ad/A2) In (A +Ay-Y)
Ap=1,50 A=0,0170 A=0,0058
relativer LABIND-Hellbezugswertkontrast
log[(Y/dY)/(Yy/dYy)]=log [ Y/ (A+ Ay Y) ]
—log [Yy/ (Ar+Az7Yy) ]
Y,=18, dY,=0.08 Y,/dY =222
log[(Y/dYY(Y,/dY,)]=0, m,=0. 13

bereich

100




